www.Padasalai.Net - No.1 Educational Website in Tamilnadu

ViOM Virudhunagar District Common Examinations [ 1 Y Y Y

' Second Revision Test - February 2023 L I 1 LW
Standard 10

Time: 3.00 Hrs. MATHEMATICS Marks: 100

Note: i) Answer ALL the questijons.

PART -1
14x1=14

iil) Choose the correct answer from the four alternatives and write the

1)

2)

3)

4)

3)

6)

7)

8)

9)

10)

option code and the corresponding answer.
A={a, b, p}, B={2 3}, C={p, q,rs}then n[(ALC)xB] is
a8 b) 12 c) 20 d) 16
Ifg={(1, 1), (2, 3),(3,5), (4, 7)} is a function given by g(x) = ax+p then
the value of a and B are
a) (-1, 2) b) (2, -1) c) (-1, -2) d) (1, 2)
The sum of the exponents of the prime factors in the prime factorization of
1729is
a)l b) 2 c) 3 d) 4
The first term of an arithmetic pragression is unity and the common
difference is 4. How many terms of the A.P must be taken for their sum to
be equal to 1207
a)6 b) 7 c) 8 d)9
If (x-6) is the HCF of x>-2x-24 and x?-kx-6 then the value of k is
a) 3 b)5 c) 6 d) 8
Which of the following must be added to make x*+64 a perfect square?
a) 16x? b) -16x? c) 16x d) -16x
In the figure ST || QR, PS = 2 cm and SQ = 3 cm then the ratio of the area

of APQR to the area of APST is p

/S/x
P R
T

a)25:4 b) 25:9 c) 4:9 d) 9:4
A man walks near a wall, such that the distance between him and the wall is

10 units. Consider the wall to be the y-axis. The path travelled by the man is
c)x=0 dy=0

a)x=10 b)y =10
(2, 1) is the point of intersection of the straight lines

a) x-y-3 =0; 3x-y-7 = 0 b) x+y = 3; 3x+y =7

c)3x+y =3; x+ty =7 d) x+3y-3=0; x-y-7=0

A tower is 60m high. Its shadow is x metres shorter when the sun's altitude
is 60° than when it has been 450 then x is equal to

b) 25.36 m

a) 34.64 m
d) 36.25m

c)64.34m
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©11) If the radius of the
same height, then t
the volume of original cylinder is
a)1:2 b) 1:4 c) 1:6 d) 1:8
12) The volume (in cm3) of the greatest sphere that can be cut off from a
cylindrical 10g of wood of base radius 1 cm and height 5cm is

base of a right circular cylinder is halved keeping the
he ratio of the volume of the cylinder thus obtained to

20

a)%n b) %n c) 5t d 3

13) If the standard deviation of x, y, z is p then the standard deviation of 3x+5,
3y+5, 3z+5is
a)3p+5 b) 3p c) p+5 d) 9p+15

14) Kamalam went to play a lucky draw contest. 135 tickets of the lucky draw
were sold. If the probability of Kamalam winning is 1/9, then the number of
tickets bought by Kamalam is |
a)5s b) 10 c) 15 d) 20

PART -1I
Note: i) Answer any TEN questions. " 10%x2=20
ii) Question No. 28 is compulsory.
15) LetA = {1, 2, 3} and B = {x/x is a prime number less than 10} find AxB and
BxA. » _
16) A Relation R is given by the set {(x, y) /y = x+3,x¢e {0, 1, 2, 3, 4, 5}.
' Determine its domain and range. ‘
17) Find the HCF of 340 and 412 using Euclids Division Algorithm.
18) Solve: 8x =1 (mod 11) .
19) Find the excluded value of the polynomial —_—
~ tc-5t+6
20) If a and B are roots of the quadratic equation x2+7x+10 = 0 then find the
value of a3-p3. :

0 49 7 3 8
A= B= i -5A.
21) If {8 3 7] and (1 4 9] then find B-5A

22) In the figure, AABC is circumscribing a circle. Find the length of BC.

23) The line through the points (-2, a) and (9, 3) has slope -1/2. Find the value
of a. - o
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, 24) Prove: SinA __sinA_ _
1+ cosA 1_cosA—2cosecA

25) The radlL!S of.a spherical balloon increases from 12 cm to 16 cm as air being
pumped into it. Find the ratio of the surface area of the balloons in the two
cases.

26) Find the range and co-efficient of range for the data
43.5,13.6, 18.9, 38.4, 61.4, 29.8

27) tA (I:om is tossed thrice. What is the probability of getting two consecutive
ails?

28) The slant height of a frustum of a cone is 5 cm and the radii of its ends are
4 cm and 1 cm. Find its curved surface area.

) PART - III
Note: i) Answer any TEN questions only.
ii) Question No. 42 is compulsory.

10:5=50

f(—o)—“z”fgl (ii) find x such that

29) A function f is defined by f(x) = 2x-3. (i) find
f(x) = 0 (iii) find x such that f(x) = x (iv) find x such that f(x) = f(1-x).
30) Prove (fog)oh = fo(goh) for the functions f(x) = x-4, g(x) = x* and
h(x) = 3x-5. | '
31) The 13t term of an A.P is 3 and the sum of first 13 terms is 234. Find the
sum of first 21 terms. ’
32) If a, b, c are three consecutive terms of an A.P and X,
consecutive terms of a G.P, then prove that xP¢ x y¢ @ x z

y, z are three
a-b — 1

Nl

1 2 1 ;
If A= and B=|-1 4 | then verify (AB)T = BTAT.
2 -11 0 2

33)

34) State and prove Angle bisector theorem.

35) Find the equation of a straight line passing
of the intercepts on the co-ordinate axes is 7.

36) Find the equation of a straight line through the point of intersection of the

lines 8x+3Y = 18, 4x+5y =9 and bisecting the line segment joining the points

(5, —4) and (=7, 6)-

37) A TV Tower stands Vv ‘
from a pointon the other bank directly opposite to it. The angle of el

of the tower is 60°. From the another point 20m away from thi§ point on the

| line joining this point to the foot of the tower, the angle ele.vatuon of the top

of the tower is 30°. Find the height of the tower and the v'wdth of.the canail.

38) Calculate the weight of the hollow brass sphere if the mne; diameter is
14 cm and thickness is 1mm, and whose density is 17.3 g/cm~. |

ght circular cylindrical cqntainer of base radius 6 cm and 15 cm is full of

39 A "o The ice cream is to be filled in cones of height 9 cm and base .

| Icijiir:zn;'l having a hemispherical cap. Find the number of cones needed

ra ,

pty the container.

through (-3, 8) and whose sum

he bank of a canal. The tower is watched

ertically on t
evation

to em
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40) The mean and standard deviation of 15 observations are found to be 10 and
S respectively. On rechecking it was found that one of the observation with
value 8 was incorrect. Calculate the correct mean and standard deviation if
the correct observation value was 23.

41) From a well shuffled pack of 52 cards, a card is drawn at random. Find the
probability of it being either a red king or a black queen.

42) Find the GCD of 6x3-30x°+60x-48 and 3x3-12x2+21x-18.

PART - IV
Note: Answer ALL the questions.
43) Draw a circle of diameter 6 cm. At a point L on it draw a tangent to the
circle using the alternate segment theorem.
(OR)
Draw the A\ABC of base 1 BC = 8 cm, £ZA = 60° and the bisector of ZA meets
BC at D such that BD = 6 cm. ‘
44) A bus is travelling at a uniform speed of 50 km/hr. Draw the distance +time
graph and hence find
1) the constant of variation.
i) how far will it travel in 1'% hours.
iii) the time required to cover a distance of 300 km from the graph.
(OR)
Discuss the nature of solutions of the quadratic equation x2+2x+5 = Q using

2x8=16

graph.
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